Tableaux des Puissances de Dix (F)

Multipliez le nombre de la rangée par celui de la colonne.
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Tableaux des Puissances de Dix (F) Solutions

Multipliez le nombre de la rangée par celui de la colonne.

X 0,001 0,1 0,01 0,0001
82 0,082 8,2 0,82 0,0082
16 0,016 1,6 0,16 0,0016
7 0,007 0,7 0,07 0,0007
41 0,041 4,1 0,41 0,0041
32 0,032 3,2 0,32 0,0032
X 0,0001 0,01 0,1 0,001
84 0,0084 0,84 8,4 0,084
52 0,0052 0,52 5,2 0,052
36 0,0036 0,36 3,6 0,036
3 0,0003 0,03 0,3 0,003
92 0,0092 0,92 9,2 0,092
X 0,0001 0,01 0,1 0,001
97 0,0097 0,97 9,7 0,097
89 0,0089 0,89 8,9 0,089
99 0,0099 0,99 9,9 0,099
9 0,0009 0,09 0,9 0,009
42 0,0042 0,42 4,2 0,042
X 0,01 0,0001 0,001 0,1

61 0,61 0,0061 0,061 6,1

46 0,46 0,0046 0,046 4,6

39 0,39 0,0039 0,039 3,9

26 0,26 0,0026 0,026 2,6

73 0,73 0,0073 0,073 7,3
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